



姓名: _____

日期: _____ 分数: _____

$4^{(-2)} + 5 =$

$10 + 9 =$

$8^0 - 4 =$

$(-2) - 5 =$

$10^{(-2)} + 5 =$

$4^2 + 7 =$

$10^2 - (-10) =$

$9^{(-1)} + (-9) =$

$5^{(-1)} - 5 =$

$2^2 + 2 =$

$1^{(-1)} - (-5) =$

$7^{(-1)} - (-10) =$

$(-10)^0 + (-7) =$

$8^0 - 2 =$

$2^{(-2)} + (-2) =$

$(-2)^{(-1)} - 4 =$

$5^2 + (-9) =$

$3^2 - (-3) =$

$(-4)^{(-1)} + 2 =$

$(-7)^{(-2)} - 9 =$



姓名: _____

日期: _____ 分数: _____

$$4^{(-2)} + 5 = \frac{81}{16} = 5\frac{1}{16}$$

$$10 + 9 = 19$$

$$8^0 - 4 = (-3)$$

$$(-2) - 5 = (-7)$$

$$10^{(-2)} + 5 = \frac{501}{100} = 5\frac{1}{100}$$

$$4^2 + 7 = 23$$

$$10^2 - (-10) = 110$$

$$9^{(-1)} + (-9) = \left(-\frac{80}{9}\right) = \left(-8\frac{8}{9}\right)$$

$$5^{(-1)} - 5 = \left(-\frac{24}{5}\right) = \left(-4\frac{4}{5}\right)$$

$$2^2 + 2 = 6$$

$$1^{(-1)} - (-5) = 6$$

$$7^{(-1)} - (-10) = \frac{71}{7} = 10\frac{1}{7}$$

$$(-10)^0 + (-7) = (-6)$$

$$8^0 - 2 = (-1)$$

$$2^{(-2)} + (-2) = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$(-2)^{(-1)} - 4 = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$5^2 + (-9) = 16$$

$$3^2 - (-3) = 12$$

$$(-4)^{(-1)} + 2 = \frac{7}{4} = 1\frac{3}{4}$$

$$(-7)^{(-2)} - 9 = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$